Solutions for In-Class Problems 1 for Monday, January 22
These problems are from Pre-Class Problems 1.

You can go to the solution for each problem by clicking on the problem letter or problem number.

1.
Solve the equation 
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2.
Solve the following equations.
   
a.    
[image: image2.wmf]6

7

2

1

8

5

4

3

-

=

-

y

y



b.    
[image: image3.wmf]4

6

5

4

4

-

=

-

-

t

t

t


c.    
[image: image4.wmf]9

11

3

3

2

-

=

+

x

x




d.    
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e.    
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3.
Solve for the indicated variable.

a.    
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b.    
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4.
Write each expression in terms of i and simplify.
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b.   
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5.
Determine the real part and the imaginary part of  
[image: image12.wmf]i

9

3

7

-

.

SOLUTIONS:
1.
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Back to Problem 1.

LCD(3, 4, 2)  =  12
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NOTE:  
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Answer:  
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     Back to Problem 1.
2a.
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Back to Problem 2.

NOTE:  
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NOTE:  
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Answer:  
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Back to Problem 2.
2b.
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Back to Problem 2.

NOTE:  
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If 
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NOTE:  
[image: image40.wmf]=

÷

ø

ö

ç

è

æ

-

-

÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

-

6

5

)

4

(

6

4

4

)

4

(

6

6

5

4

4

)

4

(

6

t

t

t

t

t



[image: image41.wmf]5

)

4

(

4

6

-

-

×

t

  and  
[image: image42.wmf]t

t

t

t

×

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

6

4

)

4

(

6

.

Answer:  No solution





Back to Problem 2.
2c.
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Back to Problem 2.

NOTE:  
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NOTE:  
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NOTE:  
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Answer:  
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Back to Problem 2.
2d.

[image: image55.wmf]18

9

2

92

4

6

6

3

2

5

2

-

+

+

=

+

-

-

w

w

w

w

w




Back to Problem 2.

NOTE:  
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NOTE:  
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LCD
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NOTE:  
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Answer:  
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Back to Problem 2.
2e.
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Back to Problem 2.

NOTE:  
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LCD
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Back to Problem 2.
Solving using cross multiplication:
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3a.
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Back to Problem 3.
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Answer:  
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Back to Problem 3.
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Answer:  
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Back to Problem 4.
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Answer:  
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Back to Problem 4.
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Answer:  
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Back to Problem 5.

Answer:
Real part: 
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Imaginary part: 
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